Part 3

The distance/velocity relation discovered by Hubble arises naturally in a universe that is expanding.  If the space between any two points in space is getting larger, the velocity of their separation will be proportional to their distance.  If we run the clock backwards, at some point in the distant past, the two points were in the same place.  Use your average value of H to figure out how long ago that was.  This number is the current age of the Universe.

** Show your work **

Current age of the Universe:  _____________________  GigaYears

Turn in one copy of this lab with each group member's printed name and signature.  By signing, you certify that you have actively participated in the exercise and have put forth effort in equal share to your fellow group members. 

Printed Name                                         Signature

______________________                    _____________________                                        

______________________                    _____________________                                        

______________________                    _____________________                                        

______________________                    _____________________                                        

